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PHYSICAL EDUCATION
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

The term ‘Hypokinetics” refers to that phase of physical education where amount of
muscular activity is :

(A) Sufficient (B) Insufficient
(C) More than required (D) None of the above

The Greek philosopher known as the father of the philosophy of Idealism was :
(A) Aristotle (B) Plato
(C) Rousseau (D) Darwin

International Olympic Committee was formed in :
(A) 1894 (B) 1896 (C) 776 B.C. (D) 1952

Pavlov is related to :
(A) Feedback theory of learning (B) Field theory of learning
(C) Conditioning theory of learning (D) Operant conditioning Theory of learning

Competition is defined as a process through which success is measured by :

(A) Determining who reaches certain level of excellence

(B) Comparing present performance with the past performance

(©)

(D) Comparing the achievement of those performing the same activity under the same
circumstances

Standard of excellence set by those who have performed in the past

When agonist muscles contract antagonist muscles relax, it is called :
(A) Reciprocal innervation (B)  Eccentric contraction
(C) Concentric contraction (D) None of the above

Muscle typing can be determined with the help of :
(A) Calorimeter (B) Muscle biopsy
(C) Spectrophotometry (D) Radiometry

For muscle contraction the immediate source of energy is :
(A) Blood glucose (B) Glycogen
(C) A.TP. (D) Phosphocreatine

D—4707 2
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10.

11.

12.

13.

14.

15.

16.

17.

Cramps are caused because of :
(A) Lack of fitness for the task (B) Lack of fluid
(C) Lack of sleep (D) Lack of rest

Common injury to the footballers is :
(A) Lateral collateral ligament of knee
(B) Head injury

(C) Interio lateral ligament of ankle
(D)

D) Medial menisens

Knee joint is formed with the following bones :
(A) Femur, Fibula, Tibia (B) Femur, Radius, Ulna
(C) Femur, Fibula, Ulna (D) Tibia, Radius, Fibula

The overarm motion of a track sprinter running 100m. dash is an example of :
(A) Curvilinear motion (B) Linear motion

(C) Tangential motion (D) None of the above

The physical education curriculum for the growing children should be :
(A) Research centred (B) Competition centred
(C) Subject centred (D) Child centred

The main emphasis of the School Health Programme should be to :
(A) Keep the school premises clean

B) Arrange for mid-day meal

Participate in social service programmes

Educate children in matters of health and hygiene

Duration of meso cycle can be :
(A) 12 months (B) 3 -6 weeks
(C) Less than 3 months (D) 3 -9 months

Adaptation process in case of beginners is :
(A) Slower (B) Faster (C) Longer (D) None of the above

Split-half is a method to establish :
(A) Reliability (B) Validity
(C) Subjectivity (D) Objectivity
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10.

11.

12.

13.

14.

15.

16.

17.
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18. Median can be calculated with :

1(n L,—-L
n_
© L+2—(@L,-Ly) (D) All the above
19. Objectivity coefficient of 0.85 to 0.94 is termed as :
(A) Excellent (B) High
(C) Average (D) Unacceptable
20. Soccer skill is measured by :
(A) Miller Wall Volley Test (B) McDonald Test
(C) Sports Knowledge Test (D) All the above

21. Match the List-I with List-II and select the correct answer using the code given

below :
List-1 List-1I
(a) Oxygen (i) Approx - 16.5%
(b) Carbondioxide (i) Approx - 4.04%
(c) Nitrogen (iii) Approx - 79.00%
(d) Particles of soil (iv) Nil
Codes :
@ O © @
@) (O @) G @)
® () O @) @)
© O @) (@) @)
O () ) v (i)
22. Match the List-I with List-II and select the correct answer using the code given
below :
List-1 List-11
(a) Elbow (i) Hinge
(b) Neck (i) Pivot
(c) Carpal (iii) Gliding
(d) Hip (iv) Ball and Socket
Codes :
@ b © (@
@ O @ v (i)
® (O ) @) @v)
© () O @) @)
D) () @) @) @)
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23. Match the List-I with List-II and select the correct answer using the code given
below :
List-1 List-11
fo—f,)*
(a) Chi-square @) 2(0 ‘ e)
e
. o[BS gAY
(b) Standard Deviation (ii) \/ N 2( N
(c) Coefficient of variation (iii) %X 100
v) L B Y A
(d) Mode (iv) 1 2% —f, — 1 2 L1
Codes :
@ () (© ()
(A) @ @) @ (1)
B) @ @) (@v) (i)
© @ @@ @) (@v)
(D) @) @ (v) ()

24.

Items of the Roger’s Strength Test are :

(i) Hand grip test

(i) Leg strength test

(iii) Back strength test

(iv) Arm strength test

Codes :

(A) () (i) (iii) are correct
(B) () (i) (iv) are correct
(C) () (i) (iv) are correct
(D) (i) (i) (iv) are correct

25. Validity of a test can be measured using the criteria :

(i)  Construct validity criterion

(i) Composite score criterion
(iii) Critical appraisal criterion
(iv) Test retest criterion

Codes :

(A) () (i) (iv) are correct
(B) () (i) (iv) are correct
(C) () (i) (iv) are correct
(D) (@) (i) (iv) are correct
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26. Identify the sequential order of the colours of five rings of the Olympic flag :
(A) blue, black, yellow, green, red (B) green, blue, yellow, black, red
(C) Dlue, yellow, black, green, red (D) yellow, black, blue, green, red

27. Identify the sequential order of the positions of participants in High jump :

Performance
1.70m. | 1.75m. | 1.80m.
L X0 XX0 XXX
M 0 XX0 XXX
N XX0 X0 XXX
0 = cleared, X = failed

Participants

1st 2nd 3rd
(A) L N M
B N M L
(CO M N L
M) L M N

28. Identify the sequential order of the first day Heptathlon events using the code given
below :

(i) 110m. Hurdles
(i) Shotput

(iii) High jump

(iv) 800m. run

Codes :

(A) @) @ @G0 (@)
B) @ @) @) (@)
Q) @) @) @ (@)
(D) @(v) @ @) (i)

29. Identify the sequential order of the hosting countries of the first four Asian Games
using the code given below :
() Japan
(i) Indonesia
(iii) India
(iv) Philipines

Codes :

(A) (@) @) @) (@)
(B) (@) (D) (@Gv) (@)
Q) (@) @v) @ ()
(D) @) @G) @ 0 (@1v)

D —-4707 10
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30.

31.

32.

33.

Identify the sequential order of the positions of the participating countries of 2007
Azlana Shah Hockey competition using the code given below :

(i)  Australia (i) India

(iii) Malayasia (iv) South Korea
Codes :

(A) @@ @ @) (v)

(B) (@) @) @) (v)

© @O @ 3§) @)

D) @ @) @) (@v)

Arrange in a sequential order the preventive measures of communicable disease using
the code given below :

(i) Disinfection (i) Notification (i) Diagnosis (iv) Isolation
(v) Treatment (vi) Immunisation (vii) Investigation

Codes :

(A) @ @) @) (@) (v) (v (vii)

(B) @@ Gv) @ @) (vi) (vi) @)

(©) (v) @) @) @ (vi) (vi) (V)

(D) @) @ G @) () (v (vi)

Identify sequentially the correct order in which the Olympic motto appears using the
code given below :

(i) Higher
(ii) Faster

(iii) Stronger

Codes :

(A) (@) @G) (i)
B) @) @ (i)
Q) (@) @) @
(D) @) (@) (@)

Match Item-I with Item-II using the code given below :

Item-1 Item-I1
(a) Nehru Hockey (i) Jalandhar
(b) Rovers cup (i) Gwalior
(c) Scindia Gold cup (iii) Mumbai
(d) Surjeet Memorial Hockey (iv) Delhi
Codes :

@ (® (© ()
(A) @) @) @) @Gv)
(B) G () @) @)
(© Gv) (@) @) @)
(D) @) @ @3 Gv)

D —-4707 12
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34. Match Item-I with Item-II using the code given below :

Item-I1
gland
cell

hip

brain

35. Match Item-I with Item-II using the code given below :

Item-11

Asian Games
Volley ball
Physical Education
Basket ball

36. Match Item-I with Item-II using the code given below :

Item-1
(a) Liver
(b) Medulla
() Protoplasm
(d) Condyloid joint
Codes :

@ © © @
@) (O @) G @)
B (v ) @ 0
© O (v @) G
O (O (v @) (i)

Item-I
(a) James Naismith
(b) Harry Crowe Buck
(c) William Morgans
(d) G.D. Sondhi
Codes :

@ O © @
@A) (v) @) @ 0
® (O ) @) @)
© @) @) (v 0
D) (v O @) (i)

Item-I
(a) Stimulant
(b)  Anabolic steroid
(c) Beta blockers
(d) Diuretics
Codes :

@ O © @
@) (O @) G @)
B () (v @) 0
© (v @) @) O
D) @) (v 0 ()

D—4707
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37.

38.

39.

Match Item-I with Item-II using the code given below :

Item-1 Item-I1
(a) AIFF (i) Hockey
(b) AAFI (i) Swimming
(c) FINA (iii) Football
(d) IHF (iv) Athletics
Codes

@ () (© (@
(A) @ @) @3 @)
(B) @) @Gv) @ (@)
(© @) () @) @)
(D) @) (@Gv) @) @)

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : A test is an objective test which gives same result.

Reason (R) : McDonald Soccer test is an objective test for evaluating Soccer playing
ability.

Select the correct answer form the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : An athlete needs to warm up to avoid injury.

Reason (R) : A chess player does not get injury in a competition.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

D —-4707 16
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40.

41.

42.

Assertion (A) : A teacher should prepare a lesson plan for making teaching effective
to the students.

Reason (R) : An experienced teacher imparts effective teaching to the students.
Codes :

(A) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : A coach must undergo coaching education to be successful in coaching
profession.

Reason (R) : A good player can be a successful coach.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) (A) is true but (R) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Assertion (A) : The physical education profession needs teachers who are enthusiasts
and culturally rich, have mastery over subjects and skills to assist their
students.

Reason (R) : Teaching profession offers many rewards, provides better financial
stability and a good retirement package.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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40. YA (A) : foenfei & fau faeor o guEs s H & fog Rieres S a8 A s i
T AT |

qeh (R): U Tal foreren fomnfofai i gemaenit freror <ar 21
HIS -

(A) THI (A) 3R (R) 9 &, A1 (R), (A) Tl T =1 T ¢ |
(B) <Ml (A) 3R (R) W&l &, T (R), (A) I Tl A=A T
() (A) & &, W (R) Tod B

(D) (A) T &, W (R) &l |

41. YA (A) : DIF HIHE H FhHeA Y6 L & fI i i b= e ot =nfea )
Teh (R): T 3791 Fgaiiel U Ahal e & Hehall €|
HIS :
(A) M (A) 3R (R) & &, T (R), (A) 1 HEl AR & |
(B) (A) W& &, T (R) o |
(C) T (A) 3R (R) T T
(D) <HI (A) R (R) T |

42. HIF (A) : AT Fen =IoaqE T T =ed § S Sl R ik fas gfe & aftgef &,
3T B 1 AEE i o fau o799 fam iR ere # g 1fesr 2

qeh (R): STEATS FIHME dgd 9 RIS a1 8, o1=a1 foiia Tenfae oiR dartgfa w
3131 Ukt a1 6|

HIT

(A) THI (A) 3R (R) T& 7
(B) T (A) 3R (R) Terd 7
() (A) & &, W (R) Tod B

(D) (A) T &, W (R) &l |
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43.

44.

45.

Assertion (A) : The standard of officiating of the Indian officials is not upto the mark
in almost all the sports events at international level.

Reason (R) : Lack of adequate exposure in officiating at international level
competitions is the cause.

Codes :

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Original instinctive behaviour can be modified to socially accepted
form of behaviour through education.

Reason (R) : Adolescent boys and girls can learn to regard each other in a
coeducational learning programme.

Codes :

(A) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Skills learned through training in one learning situation can be
transferred and applied to another learning situation.

Reason (R) : Skills learned in Basket ball can be transferred to play Net ball.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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43.

44.

45.

HAT (A) : AWHT TR R AR Gedl T IRA AfmiEl &1 M HA H1 HAU0E e
TR q &l

qeh (R): iaUsia @R i gfaanfiraeti § ifusit 9g R vatg erafkafd & 9 & &l &
RO T

HiS :

(A) THI (A) R (R) T |
(B) THI (A) 3R (R) W& T
() (A) T &, W (R) Tod B
(D) (A) 7o &, T (R) T g

HIT (A) : e ¥ go Fufiie aR w1 I9S Wihd FaeR & T § Tl S 6l § |
qeh (R): Tafen wreiswy § s drersh Td aifeiel Teh 8L 31 Te 1 9 Tahd § |
HiS :

(A) TH (A) 3R (R) T T, T (R), (A) i F& =& T S|

(B) T (A) 3R (R) W= &, T (R), (A) il T&l AT 2 |

(C) (A) F& T, T (R) Teid |

(D) (A) T &, W (R) &l |

HAT (A) : T fearfa & ufdreron grr Erg U il 1 o= fearfa H Wi e S B dien
T MR fRan ST Hehal ® 1

qeh (R): Shedicl § ERE U DIl bl Jedicl Tie- | TR fohan S Hehdl §1
HiS :

(A) THI (A) 3R (R) & T, T (R), (A) I T&l AT T |

(B) THI (A) 3R (R) W& &, T (R), (A) Tl T ==& Tl ¢ |

(C) (A) §& T, T (R) Teid |

(D) (A) 7o &, T (R) T g
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46.

47.

48.

49.

50.

Read the passage and answer the questions that follow based on your understanding
of the passage :

Athens a city-state in eastern Greece, was the antithesis of sparta. Here the
democratic way of life flourished and consequently it had a great bearing on the
objectives of physical education. An ideal of Athenian education was to achieve a
proper balance in moral, mental, physical and esthetic development.

Gymnastics for the youth were practiced in the Palaestra. Instruction in the
gymnasium was given by a paidotribe and also a gymnast. The paidotribe had charge
of the general physical training program, whereas the gymnast was a specialist
responsible for training youth in gymnastic contests. The chief official at the gymnasium,
in overall charge was called a gymnasiarch.

Gymnasium became the physical, social and intellectual centers of Greece. Men
such as Plato, Aristotle and Antisthenes were responsible for making such gymnasium
as the Academy, Lyceum and kynosarges as outstanding intellectual centers. In keeping
with close association between physical education and religion, each gymnasium
recognised a particular deity. For example, the Academy recognised Athena ; the
Lyceum, Apollo ; and Kynosarges, Herecules.

During the time the games were held, a truce was declared by all city states in
Greece, and it was believed that if this truce was broken, the wrath of the Gods will fall
on the guilty. Before competition, an Oath had to be taken that the Athlete would not
use illegal tactics to win, to which fathers, brothers and trainers also had to swear. The
Olympic games were first held in 776 B.C. and continued until abolished by the Romans
in A.D. 394. However, they have since been resumed and today are held every fourth
year.

What was the antithesis of sparta ?
(A) Objectives of Physical Education (B) Ideals of Athenian Education
(C) Democratic way of life (D) Esthetic development

Who was responsible for Gymnastic training ?
(A) Gymnasiarch (B) Gymnast (C) Paidotribe (D) Palaestra

Which of the following were intellectual centres ?
(A) Academy (B) Lyceum
(C) Kynosarges (D) All the above

A condition for the athlete before taking part in the games was :
(A) Moral training (B) Bachelorhood
(C) Taking Oath (D) None of the above

Truce was made before the games because of :

(A) Fear of war (B) Fear of defect
(C) Fear of death (D) Fear of God
-00o0-
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46.

47.

48.

49.

50.

1@ 71T 3791 T Ufgu S 3Ta: M 9T 3 30 1T 991 % 39 FiHT -

T Yol 19 o1 T © S S ol feRie Ron o1 o1 Fel Sfer ok SgeR adishT T
3R aftomHa: sHeR R o & 39l W agd U9a gSl | U fren o etest o Afe,
T, AR iR i< I  |qer 9| e |

T § el ol AR ol 2118 Seamn s o | St # wfiremr dess
3R T Fomre gry ot feon man on | USieRe ame I gftrerer g & faw e o o
Saifer THATEE Tk foog o1 S garehl i fiiess gfaanfiarsti § wmn o o forg gfferd e
% fore ITrert o1 foafsem § g sifieit e o g Swarfa e o, fSmfases
ST T |

fommfsrm e w1 IR, Tmifse T Sifg® s 9 T @i, 3, ey S
fer fmfsem & faadim o) fordramsia Si9 STRRHEl ! 3y dlfgsh s oM & fag
IR 9 | Aifes fren o o o Wi =i wewd g o SR, 8 SHAiSE T fafine <
% &Y H qEAH TN 3SR o AU, sTeheHt T, fordeiy, oTde, R 3R stered
o ®9 H ggEHI T |

& T B 9 39 WA W o 9 el H g5 fore =it foran s o, 9t uw g5 fovm
ST ST o1 <1 AT forgard fehan STt & shi Sreft 0 Qefdiedl i hlq TSt 8l | Fiaiiar | ge
faamel =l oy o gedt of foF 9% Sita o faw o1y =me 78 s 35k fuan, el 8iR
JfStereh b1 oft IIE STa T TS off | siiafie Te 776 o9, H Ueelt 9 g SR a¢ d S
TS 394 TEN. | AA o AR A 3k 9ig B i S9N 1 | I, ST TR % fore T 1R o1&
W AR |A 9% 3 T B R |

T bl foRiet gRoT R off ?

(A) TR foren & 389 (B) Ty fram & eyt

(C) e &t ek (D) dr<d fome

T af3remr & fau s STRert o ?

(A)  fmtaeeh (B) e (C) USRS (D) eI
T 9§ SfgH Fg dA G A?

(A) 3TRTGHT (B) e (GERERIEIST (D) TTH 4 ¥«
T H 9F o 9§ 9 Taaret ot = wd off ¢

(A) fae wfireror (B) feranfed

(C) 319 T (D) 3TH | &S T

T § 95l g5 form gfe it St of =it

(A) IS H = (B) BRI A

Q) T A (D) <aasll & W

-00o0-
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